Algebra IT Six weeks test review

Name
Graph each system of inequalities:
2x+4y>-8 2x>-8 3. Write the restristins for the feasiable
Cl4x-2y<6 2. {3y<9 region.
y< ’
I
A
2
“Es TN
V'S 2
8 I A X
8 y. !
e =3
a3 . ( 134
A A0 4
' r Y X
2 wd
v
& Y 2
T Bi-Bl-A41- p. 618 . -
2 & [
= T .Rl-Bl-Al. > s
2
& 4 9
- 6
v
8 v
v

4, A) Give the vertices of the shaded region.
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Vertices of Shaded Region:

5 6 x

C) Find the Maximum for
P = 3x + 4y. (Show your
workl)

Maximum of P is
and occurs at the vertex

).

D) Find the Minimum for
C=2x-5y (Show your
workl)

Minimum of Cis
and occurs at the vertex

— )

5. Becky makes Pifiatas are made to sell at a craft fair.
It takes 2 hours to make a mini pifiata and 3 hours to
make a reqular-sized pifiata. Becky makes a profit of
$12 for each mini pifiata and $24 for each regular-sized
pifiata sold. Becky has no more than 30 hours to make
pifiatas and wants to have at least 12 pifiatas to sell.

Write the objective function to maximize Becky's
profit.

Werite the restrictions in order to help Becky determine
the number of each size pifiata to make.

State the dimensions of each matrix. Identify the indicated element.
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